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Standard Equation : — +-5 =1, where a>b&b?=a*(1-e?.

b2 a
Eccentricity: e =1/1 - ,(0<e<1), Directrices : x =% g
a2

Focii: S=(x ae, 0). Length of, major axes = 2a and minor axes = 2b
Vertices: A'=(—2a,0)&A=(a,0).

2
Latus Rectum : = %zZa (17e2)

Auxiliary Circle : x2+ y2= a2
Parametric Representation : x=acos6&y=bsin9
Position of a Point w.r.t. an Ellipse:

2 2
X
The point P(x1y y,) lies outside, inside or on the ellipse according as ; —12+;—12—1 ><or=0.
2
Line and an Ellipse: The line y = mx + ¢ meets the elllpse— + g—z =1 in two points real, coincident
or imaginary according as ¢?is < = or > a?m? + b2
. W1
Tangents: Slope form: y=mx £ ,/a?m2+b? , Point form: —- =1,
g p y a‘“m“+b az b2
Parametric form: xcosH + ysing =1
a b
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a“x by a“— b Im
MNormals: ———— =a% - b% ax.sect - by cosect = (a? - b, y = mx (,—)
x"| .!lr"l '||I||32| bzmz

Director Circle: x* + y* = 8 + b*
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